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; (1+1)
Give blologlcal mputs on the fellc;mng (1+1)
a) pneumatophore b) pulvuius

B A e | 0"
" Pea ﬁou}e? exhibits vexiilary aestivation —justify with sketch. )
Define solute potential. Why the value of solute potential is always negative? ()
_ Give \o__pesalient distinguishing feature between a symplast and apoplast system. (2)
Identify the elements on the basis of the following information . )

% a)  The element is essential for menstematlc tissues and also used for the synthesis of ce]
wallbysplan‘ts g '
) b‘)”» % e"éie}}ié}‘l‘i‘ :;“a;‘ é“s'é‘é%ﬁal égi;;tlt:ﬁent of chlorophyll and also acts as enzyme activator.
¢)  The element is present in amino acids like cysteine and methlomne

d) The element plays plvotal role in opemng and closing of stomata.

: : L SEEL | SRR T : '
VROL1. Comment on the followmg: SN 3 (1+1)
~ e s o 5 ; ,'_,;*» SHEY ~
a) Occupatlonal resplratory dlsorder b) Rh factor incompatibility disorder |
. f‘\"f#\*! {\“

,‘;Name the secretions ﬁ'om basophxls responmble for inflammatory reactions. Give example of

it one such mﬂan(xmato tio : &k 1.5+0.5
{4 ) OOROTE gg“'g‘l}?‘afth, %t w.nu BT ARG ( )

b) Vll'OldS are blOlOgl a]

65 9
\ anhens are more 'ai) n
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-,"Members of the class Aves show volant adaptaﬁdns

Sfi

Water Vascular System is of immense importance for the echinoderms.

Q14. What do you mean by inflorescence?Distinguish between the two major types of inflorescence
- with examples. ) L T (1+2)

| Q15. Briefly comment on : | (1+1+1)
) Aleurone layer, b) conjoint vascular bundle, c) hypogynous flower

Q16. a)  How can you distinguish a male cockroach from a female one ?

> v 10 § REOAR o
y .

'~ b)  Mention the function of gap junction.

¢)  Distinguish between tendons and ligaments.
'Q17. Drawa neat,ﬁm&grm‘h of fluid mosaic model of plasma membrane

r : OR ) _
JEdhe) VLSS SMGREAN0 RuDUI 3% PAAR
that of a L.S. of mltochondnon. (Deplct at least three correct labelhng) (1.5x2)
pomnes tnsise wol 4il e aloy ot
Q1I8. ._a) Dragrammatxcally represent a pentose sugar {1 (1+1+1)
GRS b)  Give 'e)kainfile"d'f any two secondary metabolites.
i 1 Bers
c) Compare the phmary and seeondary slructm‘emﬁ protems
Graplucally represent the mpaet of subsﬁ'ate concentratlon on enzyme activity.
SEEERES R0 s 3y
G1ve example of acompetltnve enzyme mhlbmon (2+1)
3)

TR (o‘.sxs) .

sm is present as pe i

I sh between tidal vol
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(2+3)

Or

of label}gq-‘:gi_ﬁa.gram enumerate the different sub-phases of meiosis

g e AL

4+1)
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Total Number of Pages =5 | 33/KVS(KOL)
' KENDRIYA VIDYALAYA SANGATHAN, KOLKATA REGION
SESSION ENDING EXAMINATION (2018-19)

B » SUBJECT: CHEMISTRY (043)

| CLASS- XI
Time allowed: 3 Hours o Max. Marks: 70
General[nstrucnons.,__: e

(@)  All questions are compulsoxy A S

e T4
w ¥

(b) Sectlon A Q no. 1 to 5 are very short answer questions and carry 1 mark each.
g T b A
& l\((3) Sectlon B Q.no. 6 to 12%'3 short answer questions and carry 2 marks each.
- (@  Section C: Q.no. 13 to 24 are also short answer questions and carry 3 marks each.

(o)' Sectlon D Q no. 25 to 27 are long answer questlons and carry 5 marks each.

prov1ded In two questions of
/ marks four questions of three marks and all the three
1ghtage. You have to attempt only one of the choices in such

!,J,"‘ s _“- ”'(‘.;);‘ _'; \“ ey : "‘l _,l.l:v

uestlons of five marks_

e —-‘Z. e ks
-5 {quéstlons
’ se of calculators is not allowed RNRE R

[ e LN TN k.
LY & r‘.;l‘.g.l S %\ S
r ¥ ; W

sl et 3 M
33 S nlp sy Tk

4 e S iR S, AR
—_—

l.h.J) g RN ALS 1S

" SECTION-A
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-

| Under what conditi%%ﬁ':AH becomes equal to AU ?

OR

£ SECTION-B

Wthh period the element is located Qeva

6.
(i1) Applying Hund s erte the ground-state electromc conﬁguratlon for: N \
7. | Arrange the following. m Bﬁ‘er@f (a) Ionisation Enthalpy : B, C, O, N 2*\
(D) Electronegativity : Ok Cl, Br |
il OR
Arrange the followmg in order of (a) increasing ionic radius: 0%, F,Na', M
: (b) increasing electron gam enthalpy F,Cl, Br, ]
3 (1) ~ Anclement has valence shell electronic configuration 3s*3p". In which group and

2
2
(1) Wh@t 1§ the oxldatlon'state of K ml{()z |2 A
o (11) LlCl is soluble in organic solvent Why ? E

Scanned by CamScanner




o

(i) 6.022 x 10 molecules of oxygen

(iii) 9.0 g of Al (Al =27 u)

Find out 6 errors in the table below and write it with correct data.

(l)Dxawthe shapeof" F. as_

OR

per VSEPR theory

14.
Principal Sub shell Number of | Total Number of | Total |
Energy available orbitals ‘number of electrone number of
Level (PEL) per sub | orbitals per sub electrons
shell per PEL shell perPEL

1 s 2 24 2 4

; el W e o e 8

} 4 St 1 ¥ 2

? Pu i | 3 145y 6 8

g L clseRER | 10 \ [ 10

‘12 (1) On the basxs Of VSE\.‘Eweory, deduce and draw the shape of SF¢ molecule.

\ (il) On the basis of molecunar orbital theory, explam the relatively inert nature of N2

71\ {

N

“ ’S %:‘:E_f’* OF

At ‘what temperature W1ll the reactlon become spontaneous consndermg AH and AS to

nstant over the temperature range.

Q.a

AR
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18.| () What is the oxidation number of chromium in (a)Na,CrOy (b) Cr,0,>
(ii) Balance the redox reaction in basic medium : (Write steps of any one method used)

Mn04—(aq) o I—(aq) =t Mnoz(s) + 12(5) [ln basic medium]

(i) What causes the permanent hardness of water ?
(ii) What is the basic principle of hydrogen economy ?

19.

(iii) Give the composition of water gas.

(i) Discuss the various reactions that occur in Solvay process.

(i) Why is K»CO; not prepared by Solvay Process?
| | OR

20.

Arrange the following in order of property mentioned against each :

(i) BaCly, MgCly, BeCly, CaCly (Increasing ionic character)

RN | @) Mg(OH)z, Sr(OH),, Ba(OH),, Ca(OH); (Increasing solubility in water)
|| i) Beo, MgO, ‘BaO Ca0 (Increasmg baic strengt@) Tt

e '*;n.n‘g o

21. Give reason: _
(i) N-N bond dissociation enthalpy is less than P-P bond dissociation enthalpy.

(i) - Alumlmum is better than copper | for makmg electnc transmlssmn cable. Justify.

‘ -'f"?':;'; o ( )PbCh is good 0Xi dlsmg agent

B e (i) What are nuc]eophlles ? ive one‘ example

(ii) Select the group giving + I effect and I effect from the following list : !
() —NO; (5)—CN (€) —C1 (@) — CH *

(1) What do you mean by Blochemlcal oxygen demand (BOD)?
(ii) Rain damages the monuments like Taj Mahal when industries are present ne

il (m) Name any two green house gases.

23.

w41 o A
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SECTION-D

25.| (1) Calculate number of atoms per unit cell of each of the following lattice (a) FCC (b)
BCC

(ii) Calculate the total pressure in a mixture of 8 g of dioxygen and 4 g of dihydrogen
confined ina vessel of 1 dm® at 27°C. R = 0.083 bar dm’ K~' mol".

OR

(1) Gold (atomic radius = 0.144 nm) crystallises in a face-centred unit cell. What is the
lengthi of a side of the cell? { ' e

(ii) What will be the pressure of the gaséous mixture when 0.5 L of H, at 0.8 bar and
2.0 L of dioxygen at 0.7 bar are introduced in a 1L, vessel at 27°C?

26.| (@) Complete the reactions : ‘ 3

(1) Cu + HNO; (Cone.)—

(ii) L + HNO; (Conc.) —

(b) Draw the structure of N>Os , HsP,07 and PCls
2 OR

(@) C(;_ m;;f)etg the reactions:
(i) Zn + HNO; (Conc.)—
(if) P4 + HNO; (Conc.) —

s (b) Dra\nr«;‘%ﬁe?{s&il‘cture ot'N204 , PCl; and H;PO,

27.|()  Why is Wurtz reaction not preferred for the preparation of alkanes containing |
odd number of carbon atoms ? :

L (ii)) How would You convert ethyne into benzene ?
(m) Cyclopenta-1,3-diene is not aromatic. Why ? 3

(i:\'i)‘ Draw the cis and trans structures of but-2-ene. Which isomer will have higher
D andiiy 7 |

OR
~ Give an example of Friedel-Craft’s alkylation.

4 ~ How would you convert ethyne into ethanol? -
iii)  State Hickel Rule. P
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Total NQ; of Pnnted Pages -4 (34) KVS/KOL

- KENDRIYA VIDYALAYA SANGATHAN, KOLKATA REGION |
SESSION ENDING EXAMINATION (2018-19)
SUBJECT : MATHEMATICS(041)

g CLASS- XI
.~ MM: 100 Marks

- TIME: 3 Hours

General Instructions : i
i, 1 0

1. All questions are compulsory.
This question paper consists of 29 questions divided into Jour sections A, B C and D.

2.
- Section A comprises of 4 questions of one mark‘fach section B comprises of 8 questions
h of two marks each, section C comprises of 11 questtons of four marks each and section
D comprises of 6 questions of six marks each. »
3. All questions in Section A are to be an‘s'wereq’-1 in one word, one sentence or as per the
exact requirement of the question. o
4 Ihere is no overall choice. However, mternal choices has been provided in 01 question
of one mark each, 03 questions of two marks ea h, 03 questions of four marks each and

03 questions of six marks each. You have 'to.attempt only one of the alternatzves in aII

such ,questzons

‘.iyl.pﬁhh} 34
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ove. that €0820° ¢og4(0 €0s60° cos809=1/16

i 1+71 ‘ '
3 17.  Convert the complex nymper —vn- (2—;) in polar form. "

{

OR

Fmd the square root of the complex number —8 —61.

l

| sl&r F‘md the ﬁliﬁibermf 4-digit numbers that can be fo

rmed using the digits 1 25 3,45 576
if no digit is repeated. How many of these wgll

be even s

OR ,

% . Find the number of arrangements of the letter of the word INDEPENDENCE. In how
- _many of these arrangements do all vowels always occur together ?

7 19 Two lines passing thro

ugh the pomt (25:3) mtersects each other at angle of 60°,
of one line is 2, find

the equation of other line.

OR ]

If slope

Find ther equation of a lmel,d;awn perpendlcular to the line
where it meets the y-axis.

ind the -equation of hyperbola whose focl are (0 3:12)?,-;_ Juit
f g, e.cq
is 36 e

i R

Usmg sectlon formula, prove that the three pom e
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25.

e 8

Mathematics and Physics, 4 had taken
subjects. Find the number of students

B a0

a) at least one of the m
b) only one of the subj
¢)  none of the three subje

kg Chemistry and 3 had taken all the three

ad [takenysioit bt

By principle of mathematical
TR

e

23'4 “'r 3'4.5+ ARRssanennnanns

i io LS ele o
LR

*y
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Total Numberof Pages =4 08 31/KVS(KOL)
" KENDRIYA VIDYALAYA SANGATHAN (KOLKATA REGION)

SESSION ENDING EXAMINATION 2018-2019
CLASS-XI

| SUBJECT-PHYSICS
Time Allowed : 3Hrs e o Max. Marks : 70

General instructions :

1. All questions are compulsory - i TrOge
There are 27 questions in total: questions 1 to 5 carry one mark each.

2

3. Questions 6to 12 carry two marks each, 025 RPN 1) 1M

4. Questzons 13 to 24 carry three marks cach and questions 25 to 27 carry five marks each.

S, " Thére i no overdﬂ choi&’* However internal choice has been provlded in two questions of one

mark, in two questzons of two marks four quesnons of three marks and all three questzons of five

markf each. You have to attempt only one of the given choices in such questions

10nic motion is descnbedﬁb}' a= -16 x,
at i g}eumepenod? St
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e — vvrar
" . q 3 _!% 3

e ‘ -l . bicycle is travelling with a
7. Rain s falling vertically with the speed of 30ms . A woman on aho:flﬁ e hold her umbrella

speed of 10ms™ in the north to south direction. In what direction s 2
in order to protect herself from rain ? E&Pm“ with diagram. i

8. A light body and a heavy body have same linear momentum, which one has greater kineti;
energy. Explain ?
s | . VR E : OR

fet s
A light body and a heavy body have same kinetic enert,y which one has greater linear
‘momentum. Explain ?

9. Given the moment of Inertia ofa dlsc of mass M and radius R about any of its diameter to be
MR?4, Find its moment of Inertia about an axis normal to the disc and passing through a point

2

on its rim. At s S e 2

L SR LLLVRE o W

State first law of thermodynamics. What are its limitations ? 2

\

| An.mgme has been designed to. worL between source and sink at temperatures 1 77°C and 27°C
i l\ If nergy mput 1s 3600J. What is thc work done by the enune ?

ergy thcorem for a vanable 101ce ‘7 e

(B

— 13.,‘ What L are beats" Prove that the number oﬁbeats produced
~ isequa ‘io the dlffercnce between their frequencies.

o

it ‘*."-;i."_’ ."" ﬂ’ b BT EOR Bel AR TR Sisna T
Wme Newton s formula for the Speed of sound in air. What was wrong with thxs formula?
What correc On was made by Lapl in thna formula?

peed 70 m/s strikes a block of wood of rriéss 0. 4 kg
) the block. The block is suspende ‘%m-m

Scanned by CamScanner
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What do You mean b
and their causes, Ho

Yy errors in the measurement, Briefly,

explain the different types of errors
W can these errors be minimized 2 '

16. A liquid is in Streamlined flow through a tube non-uniform Ccross-section. Prove that the sum of
1ts kinetic €nergy, pressure energy and potential energy per unit volume remains constant. 3
s : s 4
l'(. Read each statement carefully and state, with reasons and examples, if it is true or false
| A particle in one dimensional motion :- R : 3
@) With zero Speed at an instang may have non-zero acceleration at that instant?
(b)  With positive valye of acceleration must be speeding up, '
(©  With constant speed must haye Zero ‘acéeleration ?
18 R h L% LN TR CRNREHT A ; (e / 1 o il
; Obt_a_i_gn a? g:ggxgs\sl_gp{gr; the acceleration due to ‘gr'avi,tj;'i‘at‘adepth ‘d’ from the surface of earth
of mass ‘M’ and radius ‘R’. Using the expression find the weight of a body of mass ‘m’ at the
cenue of ? { X H SR IVME T ) R 3
. State ].aw"ofwconsgryationl_pt“ ]mearmomentum Derive the law of conservation of momentum
- from Newton’s third law of motion, L

peed wxﬂg which a vehicle can safely negotiate a curved

road banked at an angle €, the co-efficient of friction between the wheels and the road is THE
/A man runs across the ro0ftop of a tall building and jumps horizontally with the hope of
- landing on the roof of next building which is ¢ f lower height than the first. If his speed is 9
Vs, the horizontal distance between the two buildings is 10 m and the height difference is 9m,
will he able to land on the next building ? Substantiate your answer, Take g=10 m/s> 3

: , : . »df,}u' 3 : '
mild steel wire of length 1 m and cross-sectional area 0.50x 102 cm? is sirctched, well

vithin its elastic limit, horizontally between two pillars. A mass of 100g is suspended from thel
nid-point of the wire. Calculate the depression at the mid-point ? (Given Young’s modulus of
s .;;"O{INijﬁzj"'.'l" Y sTEr s ‘2-:':‘.‘."'-* SR 33 ST A AT RS L e 3

TR (= s it e

Pel rd Tl S
N} A"
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24. State and prove Kepler’s second law of planetary motion. p
Define escape velocity. Obtain expretllon for escape velocity of a body from the surface of the
earth 7

SECTION-D (5x3=15)

25. (a) Draw aray dlagram of an astronomlcal telescope for the final image formed at least
dmance of distinct vision? Wme the expression for magnifying power.

(b) | ’Wme any two advantages of mﬂectmg type telescope over refnacnng type telescope 5

OR

» i S by v.\-'" % oA

£

What do you mean by total mtemal reflection of light, what are necessary condition for total
g mtemal reflection, derive the relanon for critical angle and refractive mdcx 1f thc medium.
Gwe two apphcatlons of total mtefnal reﬂectlon of 1|ght 7

n for refracglve index of a prism at minimum deviationt condition ?
through an equilateral tnangular glass pnsm from air undergoes
f incidence is 3/4th of the angle bf pnsm Calculate the speed
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Total Number of Pages = 6 e 27/KVS(KOL)
KENDRIYA VIDYALAYA SANGATHAN, KOLKATA REGION

SESSION ENDING EXAMINATION (2018-19)
SUBJECT: COMPUTER SCIENCE
CLASS- XI
MAX.MARKS :70 | s TIME :- 3 HRS,

General Instructions :

1) Please write down Serial Number of the question before attempling it.
| 2) Section-A refers to Programing and Computational Thinking-1
g 3) Sectidn-'-ﬁ refers to Computer Systems and Organisation
| 4) Section-C refers to Data Management-l and Society, Law and Ethics-1

~ 3) All questions are compulsory within each section. However question number 2(a), 2(b), 3(e),
4(c), 4(d) and 5 (b) have internal choxces

SECTION-A

"‘f“i‘-.‘*-WhaI is the use of id function in Piﬂlon- : | :

i)_,D_O_b ll) True ill) * . lV) % £481 : 3

e e ;m.m 10 10 B R e
(¢ State one dlﬂ'erence betwe(en Source code and Object code

Write followmg anthmetlc expressions usmg operators in Python :
i) c=a’+b|
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f

5ol e

}x 2% 3/5+10//3 1“'V f?’. '

(b) \‘How are comments written in a Python program ? ol L .
OR %,

(®) Fi md the output Of the glven code in Python A ’ -
a=9.0//4.0 |
b="HI' * 3 i
Print('Values are', a, b)

(©)  Rewrite the followmg program after correcting errors if any and underline the 2
correction: _ Xz
for i in range(10, 0,1) | R
ifi%2=0 ; LA (TR | RO
print(i) i RN
c=+1 B ey |
print(c)
[z \‘ !',l‘\ 33 r >
o 9k ngﬁg &n‘ grggremr\t? ﬁnd the largest of three numbers. 2
e) Rewnte the followmg code ﬁ'agment usmg anle loop i ' 2
for i mrange(
sum+=i
~ print(i) :
| 'pn'nt(sum) SR : :
B G i) L X 5
Evﬁlizate the followmg expresswn with precedence of operator:
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foriint:
ifiins:
print(i)

) ‘ Rearrange the following numbers in ascending order using Bubble Sort algorithm. Show -
~ each step of transition.
11, 66, 33, 9, 5, 22

OR
e)  Consider the following randomly ordered numbers stored in a list. 2
786, 234, 526, 132, 345, 467,

Show the content of list after the First, Second and Third pass of the bubble sort method
& : used for arranging in ascending order ?

B e ’; ”the‘ ‘Show the status of all the elements aﬁer each pass very clearly underlining the
B &, ‘(5 ¥= n\i“ e 1

R R : £ S
i» s f)  Find and write the output of the followmg python code
i Data = ["P",20,"R",10,"S" 1] s S |
| Times=0 | 5
B Ak = T e

b R e L T

g . R TS A' 3 Add—o
oo G TR in range(1,6.2):

s AW AdI+Dam[C) o
print Times,Add,Alpha

SECTION-B
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©
®

(®)

(h)

®

(b)

W e AlbumID Char ()R % Primary Key

" 3 : iAo T RS S e el St ALASY 0 e RAEE L ek y
e | Name Not Null
- [SingerName ;

~ statement.

—

State one difference between Compiler and Interpreter.

Arrange the following in ascending order of memory capacity :
TB, Byte, KB, Nibble, PB, MB, GB

: 2
State De Morgan’s laws of Boolean Algebra and prove any one of them using truth

table.

Add the following Binary Numbers :
11100.011 + 111.11

SECTION-C

) In the table “Student”, Priya wanted to increase the Marks(Column Name:Marks) of 1

those siudents by 5 who have got Marks below 33. Help her to write the correct MySQL

Name the Data type that shoﬁ]d be,-used to store Accounth,des like “A1001” of e 1
R OR &

Write MySQL statement to add a new column PRICE as float in the table PRODUCT. \1
Identify the following SQL commands as DDL or DML commands. &
CREATE, SELECT, UPDATE, ALTER, INSERT, DROP : =

Write the MySQL command to create the table “ALBUM” as per the following 2

structure.
Table: ALBUM ﬂ B

ColumnName | DataType (Size) | Constiaints |

- %
]
s
o
T
@y
=

. aPrice

&

e Sl
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of the Queries V-viii, ?
| Tablel Employees .
Empno | Name Dept lary . | Bonus | Gender (
4 101 RAJ " TSaiEs 10000 2000 M
t3 \\h‘ e '
E i RAVI ADMIN 25000 L ™
103 RAMYA ADMIN 15000 4500
P 104 AARTHI | SALES 30000 2500500 | P TP
; 05T e TR — ' o
¢ SANDEEP | SERVICES 1 27000 3000 |M 1
T 7 e 11 00 |F
3 o ——— LY T ADMIN __|20000 300
el 9k 2 S i
- Table 2 . Personal et
"\ o Py Fiykd ; By Ty p
Empno FName ~Tpop Qualification
o \\
101 SINGH 1-1-1992 MCA
102 RAJEEV 13-3-1985  [BCa ,
e L
SHIKA 5-11-1989 BA
SURYA 31-3-1990 Btech
b [ITTYenouT '154’12‘-‘15984 | Mtech | l
GUPTA 551993 G

s Quallﬁcatlon ﬁom Employee and Personal whose
nc '6000
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